FiZ 122 2016-2017 Bahar 2. Vize Mazeret Sinavi 1 2 3 4 5 Toplam

Siire 90 dakikadir

Sinav sirasinda hesap makinasi kullanilmasi serbest, ancak alisverisi yasaktir. Sorular 20’ser puandir.
Gerekirse k=1/(4mg0)=9x10° N m?*/C? ve uy = 4w X 107 T-m/A olarak aliniz. Basarilar dileriz.

1) Answer the following for the circuit shown below.

a) Find the values for I;, I I35, Q and capacitor voltage V¢ immediately after the switch S is closed?

b) After some time, long enough for the capacitor to become fully charged, find the values for I;, I» I3, Q and capacitor voltage V.

¢) Switch then reopened. Find the values for I;, I, I3, Q and capacitor voltage V¢ after time t.

1) Asagidaki devrede:

a) S anahtar kapatildiktan hemen sonra I, I», I3, Q ve kapasitdr voltaji V¢’ nin alacagi degerleri bulunuz?

b) Kondansatoriin tamamen sarj olmast igin yeterli bir siire gegtikten sonra, sonra I, I, I3, Q ve kapasitor voltaji V¢’ nin alacag
degerleri bulunuz.

¢) Anahtarm tekrar agilmast durumunda, I, I», I3, Q ve kapasitor voltaji V¢'nin t kadar siire gectikten sonra alacagi degerleri

bulunuz.
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2) Sekildeki devrede her bir direngten gecen akimi bulunuz. Gosterilen ¢ ve f noktalar1 arasindaki potansiyel
fark1 nedir? Hangi nokta daha yiiksek potansiyeldedir?

2) Find the current passing through each resistance in the circuit shown. What is the potential difference
between points ¢ and f? Which point, ¢ or £, is at a higher potential?
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3) A long wire carrying 4.50 A of current makes two 90° bends, as shown in the Figure. The bend part of the wire
passes through a uniform 0.240 T magnetic field directed as shown in the figure and confined to a limited region of
space. Find the magnitude and direction of the force that the magnetic field exerts on the wire.

3) Sekildeki manyetik alanin biyikligi 0,240 T olup sayfa diizleminden bize dogrudur, ve gosterilen 60 cm x 60cm
bolgede sinirlidir. Uzunca bir telden 4,50 A akim gegmekte ve manyetik alanin oldugu bélgede sekilde gosterildigi gibi
iki ardisik dik a¢i yaparak dogrultusunu kaydirmaktadir. Bu tele etki eden net kuvvetin yoni ve biylklGgu nedir?
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4) Filipinlerdeki bir bolgede Diinya’nin manyetik alani, yatay diizlemde kuzeye dogru ve 39 uT
biiyiikliigiindedir. Sabit akim tagiyan yatay, uzun ve diiz bir telin varliginda, 8,00 cm yiiksekte olusan net
manyetik alanin sifir oldugunu varsayiniz. Teldeki akimin (a) biiyiikliigii ve (b) yonii ne olmalidir?

4) The Earth’s magnetic field is horizontal and towards north at a place in Philippines. The magnitude of the
magnetic field is uT. The total magnetic field at 8.0 cm above a long straight wire, lying on horizontal
surface, is zero. What should be the (a) magnitude and (b) direction of the current passing through this long
wire?



5) In the figure, two straight conducting rails form a right angle. A
conducting bar in contact with the rails starts at the vertex at time t=0

and moves with a constant velocity of 5.20 m/s along them. A magnetic x ‘-'T ///‘

field with B =0.35 T is directed out of the page. et ————ns 7:47
3 = Y

Calculate /7// .

a) the flux through the triangle formed by the rails and bar at t=3.0 s and 'B 4

b) the emf around the triangle at that time.

5) Sekilde dik agili iki diiz iletken ray tzerindeki bir iletken gubuk t=0 da
kdse noktadan harekete baslayip 5,20 m/s lik sabit hizla hareket ediyor. Manyetik alanin yoni sayfa
diizleminden disari dogru olup buyukligi B=0,35 T'dir.

a) t=3,0 s de raylar ve cubugun olusturdugu licgenden gecen akiyi hesaplayiniz.
b) bu anda tggen lizerindeki emk yi1 hesaplayiniz.



